
1

8

12

1011

2

5

6

3

4

7

9

13

2:1 2:1

 250 

 1
51

,5
 

 2
79

 

 270 
 155 

 2
50

 
 1

25
 

 1
2 

 M4 

 7 
9

 1
4 

 10 

 M6 

 4
 

11

 6
0 

 M8 

 13 

6

1:1

 2
5 

 M3 

7

5:1 2:1

ITEM 
NO. QTY. DESCRIPTION Drw / Art Nr. Material

1 1 Mirror Frame Assm. 0038 - 1470 -
2 1 34mm Rail Clamp Thorlabs  XT34C2 -
3 1 DN160CF Upper Clamp 0038 - 1431 -
4 1 DN16CF Lower Clamp 0038 - 1432 -
5 1 34 mm Construction Rail Thorlabs XT34-500 -
6 2 M8 x 60 0038 - 1430 A4 Stainless Steel
7 4 M3 x 25 0038 - 1430 A4 Stainless Steel
8 1 77x77mm Platform Mount Thorlabs KM200B/M -
9 7 M4 x 12 0038 - 1430 A4 Stainless Steel
10 1 Mounting Platform Thorlabs XT34D3-30 -
11 1 M6 x 14 0038 - 1430 A4 Stainless Steel
12 1 Rail Mount Adaptor 0038 - 1434 A4 Stainless Steel
13 4 M4 Washer - A4 Stainless Steel

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

24.01.14

SIZE

DO NOT SCALE 
DRAWINGM.N

DRAWING NO.

A A3

TOLERANCES

PROJ. TYPE

SCALE

DEBUR AND BREAK 
SHARP EDGES

CHECKED

N.J
DRAWN BY

R.Ruber /M.Jacewicz

1 of 4

Uppsala / CLIC X-Band Spectrometer
TITLE

RELEASE DATE

ISO-2768-m

APPROVED OWNER

1:2

PROJECT

SHEETREVISION

0038 - 1430

ROUGHNESS

This document must not be copied without our written permission, and the contents thereof must not be
imparted to a third part nor be used for any unauthorized purpose. Contravention will be prosecuted.

-

OPTICS MAIN ASSEM.



 2
0 

 250 

AA

 6
4,

1 
 5

0,
9 

 101,7 

 226,2 

 250 

 202,4 

 2
,5

 

 R10(x4) 

 74,1 A-A

ITEM 
NO. QTY. DESCRIPTION Material

1 1 DN16CF Lower Clamp Al-4212

C

2 31 4

B

A

D

E

F

A0038 - 1431

Uppsala / CLIC X-Band Spectrometer
TOLERANCES

ROUGHNESS

PROJECT

TITLE

SCALE SIZESHEETRELEASE DATE

CHECKED APPROVEDDRAWN BY

DRAWING NO. REVISION

1:2 2 of 4 A4

DEBUR AND BREAK 
SHARP EDGES

DO NOT SCALE 
DRAWING

ISO-2768-mK

N.JM.Noor
OWNER

R.Ruber / M.Jacewicz

03.02.14

PROJ. TYPE

Th
is

 d
oc

um
en

t m
us

t n
ot

 b
e 

co
pi

ed
 w

ith
ou

t o
ur

 w
rit

te
n 

pe
rm

is
si

on
, a

nd
 th

e 
co

nt
en

ts
 th

er
eo

f m
us

t n
ot

 b
e

im
pa

rte
d 

to
 a

 th
ird

 p
ar

t n
or

 b
e 

us
ed

 fo
r a

ny
 u

na
ut

ho
riz

ed
 p

ur
po

se
. C

on
tra

ve
nt

io
n 

w
ill

 b
e 

pr
os

ec
ut

ed
.

-

DN160CF UPPER CLAMPRa 3.2



 2
0 

 250 

AA

 226,2 

 90 
 50 
 25 

 7
,6

 
 2

5 

 202,4  2
,5

 

 4
0 

 3
3,

9 

 14 

 8,4(x2) 

 R10(x8) 

 R10(x2) 

 1
15

 
 2

0 
 4

 
 1

49
 

B

B

A-A

C

B-B

 18,3 

 
3,

4(
x4

) 

C 
 1 : 1

ITEM 
NO. QTY. DESCRIPTION Material

1 1 DN160CF Upper Clamp Al-4212

C

2 31 4

B

A

D

E

F

A0035 - 1432

Uppsala / CLIC X-Band Spectrometer
TOLERANCES

ROUGHNESS

PROJECT

TITLE

SCALE SIZESHEETRELEASE DATE

CHECKED APPROVEDDRAWN BY

DRAWING NO. REVISION

1:2 3 of 4 A4

DEBUR AND BREAK 
SHARP EDGES

DO NOT SCALE 
DRAWING

ISO-2768-mK

N.JM.Noor
OWNER

R.Ruber / M.Jacewicz

03.01.14

PROJ. TYPE

Th
is

 d
oc

um
en

t m
us

t n
ot

 b
e 

co
pi

ed
 w

ith
ou

t o
ur

 w
rit

te
n 

pe
rm

is
si

on
, a

nd
 th

e 
co

nt
en

ts
 th

er
eo

f m
us

t n
ot

 b
e

im
pa

rte
d 

to
 a

 th
ird

 p
ar

t n
or

 b
e 

us
ed

 fo
r a

ny
 u

na
ut

ho
riz

ed
 p

ur
po

se
. C

on
tra

ve
nt

io
n 

w
ill

 b
e 

pr
os

ec
ut

ed
.

-

DN160CF LOWER CLAMPRa 3.2



 35  12,5 

 4
5°

 

 60 

 5
 

 1
5  3

0 

 1
5 

 30 

 R2,5(x4) 

 15 
 15 

 R2,5(x2) 

 R5(x2) 

 45° 

 5
 

 1
0 

 1
0 

 5  15 

 2
5 

 A

A

A

 10
 

 14
 

 20
 

M4(x3)
8

 7,1 

 A

 M6x1.0  1
0  1
3 

A-A

ITEM 
NO. QTY. DESCRIPTION Material

1 1 Rail Mount Adaptor Al-4212

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

03.02.14

SIZE

DO NOT SCALE 
DRAWINGM.Noor

DRAWING NO.

A A3

TOLERANCES

PROJ. TYPE

SCALE

DEBUR AND BREAK 
SHARP EDGES

CHECKED

N.J
DRAWN BY

R.Ruber / M.Jacewicz

4 of 4

Uppsala / CLIC X-Band Spectrometer
TITLE

RELEASE DATE

ISO-2768-m

APPROVED OWNER

2:1

PROJECT

SHEETREVISION

0038 - 1433

ROUGHNESS

This document must not be copied without our written permission, and the contents thereof must not be
imparted to a third part nor be used for any unauthorized purpose. Contravention will be prosecuted.

-

Rail Mount Adaptor


	0038 - 1430
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View24
	Drawing View45
	Drawing View46
	Drawing View47
	Drawing View49

	0038 - 1431
	Drawing View25
	Section View A-A

	0038 - 1432
	Drawing View29
	Section View A-A
	Section View B-B
	Detail View C (1 : 1)

	0038 - 1433
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View40
	Section View A-A


